
 

���������	
kaoyan.com
������
  ����
�������http://download.kaoyan.com 

������������������������
1997 ���� !"�#$$%&'()*+,-./0���� !"�#$$%&'()*+,-./0���� !"�#$$%&'()*+,-./0���� !"�#$$%&'()*+,-./0 

 

          1234567 28 9:;<=>?@ABCD51,2,3,4,5.EFGHDIJKLMN3,4OHIJK=PQ?R 9SETUVHD< 2W 9T;<1XHCDYZMHDYZ[\I]^_`aR 2b 9T;<cdefghij[\Iklhm AABBAAB,1XHnCoINEXTpqrR 2s 9T;<tuvpwxyz{|{}{~{�{��?����M��EwxLH�IB@;�m 16,5,9,3,20,1
R1�H3��I����R 2> 9�;<cdu�J��W����=�K��5 96<��I����E 1 � 9 ¡¢£ 9¤<E�L¥E8?���¦

n1
I§��M¨©ª«��M¬­®¯8?���¦ n1

I��M°�I���±²�³´µ£ 9S<E�L¥E¶8?���¦ n2
I·§��M©ª�M¸¬­®¯ n2

��M°�±²�́ µI���£ 9T<E�L®¯u n3
��o¬­©¹�M°�I���±²�³´µR1�H�=º»��I¼½¾ 9��?@¼¿<I����M¸XÀn1,n2,n3;�ÁÂQÃ

 2� 97;<uÄÅ@�zI6Æ?ÇÈÉAB¦ 6,2,9,7,3,8,4,5,0,1,
��KF�JÊ\MËzLÇÈyÌ�Í�JR 91< ÎÏ8?ÇÈÉ:Z¦;Ð@M 92< 1XHÑÒ�JÏ8B;ÓozLI�ÔR 93< 

�Õ�JM 94< 1XHËÏ8?ÖHI@×ØEzI¼oÙÚºM 95< 
ËzÛÄ�ÕoIzL�ÔR

 96< 
�Ü@¦SIÜ@�J\M 97< 1XHÏ8B;jÝÞßozLI�ÔR 2à 96T;<uáâ=ãäå�I¾æçèé�5 91< 1XHêëìOíîïJR 92< 

�HêëìOð��R 93< 
Ë«äZ¦zñ�òóäM 94< 1XH}I¼ôõð]^åö÷�}I¼øùú]^R  

 95< 
�

Dijkstra
[\û[ü�z�Fý�I¼þÿ�M 96< 1XH�û[Hz~åz�I¼þÿ�]M 97< 

z���F�ÿ� 9L^��<IÉR 

     
ú�

 

       1         2   3 

          3    2  

        

        1    2       1   3 

  

            1      5 

             

  �� 



 

����	
��
�
kaoyan.com��
�����  ������
�����http://download.kaoyan.com 

                                            

                                                             

    ������	
      �N   !�"#$%	Pascal&' �()*+, �-+��	./0 �1 �234 ��./56789:; N(

3
<n<10)

�<=
1,2,….,n

�;>	?@��AB56
n=3,

<=
123,132,213,2

31,312,321 

program   exam8(input,output); 

 const maxn=9; 

 var  a:array[1..maxn] of integer;{C?@/78D} 

      s:set of 1..maxn;{C2EF�;>	GH} 

      n:integer 

        procedure  load(j:integer);{IJ�;>K6E a
�

} 

        var  j,k integer; 

        begin  

        for   j:=1  to  n  do 

          if   j  in  s 

         then   begin 

          s:=  (1)     

          a[i]:=j; 

          if   i<n 

          then    (2)         

         else  for  k:=1  to  n   do  writen(a[k]); 

                 (3)      

          end 

end{load}; 

begin {main} 

  readln(n);   s:=[1..n];   load(1) 

end. �L �234 �M	N.OPQRSTU/VW �XYZ[\]^_`abcdefghij\kijlbmnopq 

      type pointer=  node; 

          node=record   

               data:integer ; 

               left,right :pointer 

               end; 

       procedure  post(p:pointer); 

          var q:pointer; 

       begin 
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          if p<> then 

           begin create_stack(s);{��c��a�k�����a} 

           while (P<>nil)  or  not  empty_stack(s){s
a��

}    do 

          if  p<>nil 

          then  begin 

               push(s,p); {���a} 

               push(s,p);{P
f����a

} 

                P:=    ��[      

                end 

                else  begin 

                 pop(s,p);{������a}{
����}}   

                 if p<>nil  

                then  begin 

               push(s,nil){
���a

} 

                      ��[        � 

                end 

                else  begin 

                      �3[        � 

                 write(q  .data);{
��mn���mn� 

} 

                 end 

              end 

          end{post} 

 ¡¢ �£¤[¥¦§¨©ª«¬­®  ̄

      type  

      node=record  data:integer; link:integer  end; 

      °±² a ³´µ¶· ¹̧
  
¦§

 ̄

       var  a:array[1..10]  of  node; 

       º«°»¼½³¾¿ÀÁ¶®ÂÃÄ  ̄

      for i:=1  to  10  do 

      begin  a[i].data:=i,  a[i].link:=0   end; 

      ÅÆÇ· ¹̧¦§ÈÉÊËÌÍ· ¹̧ÎÏÐÑ¹ÎÏÒÓÔÒÕ¹¦§ÐÖ×®ØÙ¼ÐÚÛ
data=mÜ data=n

¨Ý¹¦§Þß°àÕ¹ÎÏ³ áÅÆâ«ÌÍãàÎÏÐäåm=næÐçã°àÕÎÏ³ÐèÇéÝ¹¦§ÏêëÕ¹ÎÏ³ìßèÐ¾°àÕ¹ÎÏ³Ðíîïãðì áñòó×Í KruskalôÅõöÉ÷¨øó³æ 

      procedure  merge_set(m,n:integer); 

          function  find(k:integer):integer; 

           var   f:integer; 

          begin 
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            f:=k; 

          while a[k].link<>0  do  f:=a[k].link; 

                     (1)             ; 

            end; 

       begin 

       m:=find(m);     n:=frind(n); 

       if   m<>n  then        (2)       

       end{merge_set} ��� �������������� 

      var   a:array[1..n] of  record    key:integer;  next:0..n  end; 

    �!"#ý key $�%�&' �()%*+,,,,�- ./012$34û567�$8!"#�9�:;< 

for  i:=Ø  to n-1  do  a[i].next:=i+1; 

 a[i]:= Ø û5=>
10 ?@ý@�A2BC1�8�� aD Key EFGHIJK 

Procedure  bucket_sorting; 

  Const  maxkey=9999; 

  Var bucket,tail :array[0..9] of 0..n; 

  P,last:0..n; 

  i:=0..9; 

  d:integer; 

begin 

  d:=1; 

  repeat 

    for i:=0 to 9 do tail[i]:= Ø; 

   {LM} 

    PNOa[0].next;{a[0].nextPQRSTUVW} 

    While P<> Ø  do  

     Begin   i:=a[p].key div d mod 10; 

      If             (1)            

      Then bucket[i]:=p 

      Else    a[        (2)        ].next:=p; 

      Tail[i]:=p; 

                  (3)                

      end 

      {XY}   

       last:=0 

       for i:=0  to  9  do 
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        if           (4)              

         then  begin 

          a[last].next:=       (5)        ; 

                last:=       (6)           

               end; 

          a[last].next:= Ø; 

           d:=            (7)            

          until  d>maxkey 

   end{bucket_sorting} opq r
12Ls\tPTUuvqwxPyPIJz{xR|}~�k�PIJz{xk������ky�����k��k��}R����qwxR����H�FVW�K����������������

 

    Function  isbalance(p:pointer;var   h,min,max:integer) 

       Var  hleft,hright,lmax,rmin:integer; 

     Begin 

      If  p<>nil    

          then   begin 

           if osbalance(p  .left,hleft,         (1)           ) 

           and isbalance(P  .right,hright,       (2)           )  

       then  begin  

                if  hleft=0 

                then  begin  min:=p  .data;  lmax:=p  .data-1  end; 

                if  hright=0 

                then  begin  max:=p  .data;  rmin=p  . data+1  end; 

                if hleft>hright 

                then  h:=hleft+1  else  h:=hright+1; 

                isbalanced:=(abs(hleft-hright)<=1) 

                       and (         (3)            ) 

                       and (         (3)            ) 

                 end 

                 else  isbalanced:=false 

               end 

               else  begin  h:=0;  isbalanced:=true   end 

           end{isbalance} 

 


